Area, Surface Area, and Volume 
Formulas:
2D Objects	
	
	Perimeter
	Area

	Rectangle
	2L + 2W
	LW

	Triangle
	add all three sides
	BH

	Circle
	2
	




3D Objects
	
	Surface Area
	Volume

	Rectangular prism
	2LW + 2LH + 2HW
	LWH

	Cylinder
	 + 2
	

	Square Pyramid
	2BS + 
	H

	Triangular Prism
	Ah + AL + BL + CL
	AhL

	Sphere
	
	

	Cone
	
	














Rectangle
Length (L)


Width (W)




Perimeter: 2 x length + 2 x width 	(2l + 2w)
Area:	length x width			 (lw)


Triangle
Height (H)

Base (B)


Perimeter: Just add the three sides together
Area: Base x Height  2			(BH)


Circle
Radius (r)



Radius: Distance from the middle to the outside of the circle.
Diameter: Distance all the way across the circle
PI (): ~3.14	Ratio of the Circumference to the diameter

Circumference: (Distance around the circle):
Area: PI x radius * radius (r2)


Rectangular Prism


Height (H)




Width (W)

Length (L)


Surface Area: 	2 x Length x Width (top and bottom) +
			2 x Length x Height (front and back) +
			2 x Width x Height (left and right)
			(2lw + 2lh + 2wh)

Volume:		Length x Width x Height		(LWH)











Cylinder
Radius (r)



Height (H)





Surface Area:	2 x PI x radius x radius + 		(top and bottom circle) 		 +

			2 x PI x radius x height		(around the cylinder this 		2rh
is the circumference 	
times the height)

			 + 2rh


Volume:		PI x radius x radius x height	(what you’re really doing
								here is getting the area
								of the circle then multiplying
								it by the height)

			










Square Pyramid
[image: Image result for square pyramid]












Surface Area: 		4 x area of triangle	 +	(area of triangle = )
				Area of base 		(area of base = b x b or b2)

				2bs + b2


Volume:			Area of base x height  3		(area of base = b x b or b2)

				b2h













Triangular PrismA

h

L

C

B











Surface Area: 	Ah + AL + BL + CL
You could look at this as 2() for the two triangular ends. But then the 2s cancel out, which is where just the ‘Ah’ in the main formula comes from.

Volume:		AhL
In essence here, we’re finding the area of the triangular end and multiplying it by L, the length of the prism




















[image: Image result for sphere]Sphere










Surface Area:	4 x PI x radius x radius				(4r2)

Volume:		4 x PI x radius x radius x radius  3		 or 
























Cone
r

h









Surface area:  	the area on the bottom, which is a circle		
Plus the area around					

 

Volume:		Area of the circular base					
			Multiplied by the height  3				h

			V =  or
			V = 
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